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QUESTION 1

Refer to the exhibit.
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An administrator set up the following configuration:

The distributed switch has three ESXi hosts, and each host has two 40 Gbps NICs. The amount of bandwidth reserved
for virtual machine (VM) traffic is 6 Gbps.

The administrator wants to guarantee that VMs in the Finance distributed port group can access 50 percent of the
available reserved bandwidth for VM traffic. k

Given this scenario, what should the size (in Gbps) of the Finance network resource pool be?
A. 18

B. 80

C. 36

D. 120

Correct Answer: A

2V0-21.23 PDF Dumps | 2V0-21.23 Practice Test | 2V0-21.23 Exam Questions 2/5


https://www.passapply.com/2v0-21-23.html
https://www.passapply.com/2v0-21-23.html
https://www.passapply.com/2v0-21-23.html

VCE & PDF https://www.passapply.com/2v0-21-23.html|
2024 Latest passapply 2V0-21.23 PDF and VCE dumps Download

DacocAnmnilvyv ~coam
':-)f,-|_ :_‘.-;.;--,”..i NVY.COI

Explanation: The size of the Finance network resource pool should be 50 percent of the reserved bandwidth for VM
traffic, which is 6 Gbps x 3 hosts = 18 Gbps. References: https://docs.vmware.com/en/VMwarevSphere/7.0/com.vmwar
e.vsphere.networking.doc/GUID-9F1D4E96-3392-4681-AE85- 2F36D2605844.html
https://docs.vmware.com/en/VMware-vSphere/8.0/vsphere-networking/GUID-29A96AB2- AEBF-420E-
BDD6-48921CD687FF.html

QUESTION 2

Which two statements are true regarding the use of firmware update packages in vSphere Lifecycle Manager? (Choose
two.)

A. A hardware support manager must be registered as a vCenter Server extension.

B. The firmware and drivers add-on are distributed through the official VMware online depot.

C. The firmware and drivers add-on can be used on clusters that are managed with baselines.
D. The firmware and drivers add-on can add or remove components from the ESXi base image.
E. The firmware and drivers add-on is provided by a third-party vendor.

Correct Answer: AD

Reference:

https://docs.vmware.com/en/VVMware-vSphere/7.0/com.vmware.vsphere-lifecycle-manager.doc/GUID-
34AF5B19-FC80-4915-8358-D5FCC8ABEG9IE.html

QUESTION 3

In a vSphere High Availability (vSphere HA) cluster, which action does vSphere HA take when the VM Monitoring
service does NOT receive heartbeats from a virtual machine (VM) in the cluster? (Choose the best answer.)

A. The VM is restarted on a different host in the cluster.
B. The VM is suspended on the same host in the cluster.
C. The VM is migrated to a different host in the cluster.
D. The VM is restarted on the same host in the cluster.

Correct Answer: A

QUESTION 4

Which virtual disk option allows a virtual machine to consume the minimum storage capacity? (Choose the best
answer.)

A. Independent persistent

B. Lazy-zeroed thick-provisioned
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C. Eager-zeroed thick-provisioned
D. Thin-provisioned

Correct Answer: D

QUESTION 5

Refer to the exhibit.
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Given the configuration shown in the exhibit, what should the administrator do if the latest VM template contains
changes that are no longer needed?

A. Delete App-LibTemplate (2)

B. Revert to App-LibTernplate (2)
C. Delete App-LibTemplate (3)

D. Check out App-LibTemplate (3)
Correct Answer: B

Explanation: Deleting App-LibTemplate (3) will remove the changes that are no longer needed and revert to the
previous version of the template.

References: https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-9A5093A5-C54F-4502-941B- 3F9COF573A39.html

https://docs.vmware.com/en/VMware-vSphere/7.0/com.vmware.vsphere.vm_admin.doc/GUID-
D69B0279-CC9B-495B-9CA3- AE975AF9C865.html

If the latest VM template contains changes that are no longer needed, the administrator should revert to the previous
version of the templatel. Here are the steps to revert to a previous version of a templatel:

Navigate to the Versioning tab of the VM template. From the vertical timeline, navigate to the previous state of the VM
template. Click the horizontal ellipsis icon (), and select Revert to This Version. The Revert to Version dialog box opens.

Enter a reason for the revert operation and click Revert.
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So, in this case, the correct answer is: B. Revert to App-LibTemplate (2) This will make App-LibTemplate (2) the current
VM templatel. Please note that this operation will not delete App-LibTemplate (3), it will simply make App-LibTemplate

(2) the current versionl.
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